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Factor the polynomial using the GCF.
1.5¢%-5x-5 2. - X +12x% - 4x
3,422-96z-8 4,812 +36y-3
5. 7%y + 10xy + 11y 6. 15 - 45t + 90
Warm Up

Write an equation in slope-intercept form of the line that
passes through the given points.
1.(8, 1), (3, 11) 2.(7,-2),(4,-8)

Cumulative Warm Up

Essential Question

How can you use algebra tiles to factor the trinomial
ax? + bx + ¢ into the product of two binomials?
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Essential Question
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Work with a partner. Use algebra tiles to write each polynomial as the
product of two binomials. Check your answer by multiplying.

Sample 2x* + 5x + 2

Step 1 Arrange algebra tiles Step 2 Use additional algebra
that model 2x* + 5x + 2 into tiles to model the dimensions
a rectangular array. of the rectangle.
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Exploration 1 Steps 1-2

| Step 3 Write the polynomial in factored form using the dimensions of

the rectangle.
( width ) (‘length )
& | ¥ .

Area=2x2+5x+2=(x+2)(2x + 1)

a. 3% +5x+2=
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Exploration 1 Step 3a

b.4X +4x-3= c. 2 -11x+5=

Sl Q

Exploration 1 Step 3b-c
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Factor 5x* + 15x + 10. 5 (x2 $ 33X f:Q)

%‘ S(x?4 Ix)H(ar +2)
/
J/x(-xn) ;alx‘u))
|
| S (x+1(x+2)
Example 1
Factor each polynomial. —/
a.4x" +13x+3 / )
INERYRYPD )3) 2 3
Y (X FB R (v F3) 34
b. 3% - 7x +2
b
(3%2-3 ¥ axr3 —
| )
3x(X-N-2(x-1) 23
(%-1) (3%-3)
Example 2
Factor 2% - 5x - 7. ”_L’_ =
-}, - ,,_)

(Qxa-fAX—“rx—i) P
Ax(XED - F (%)
(xn) (2% )

Example 3

. Falhe OCF frsy il
~Use Qe methord
Q0. nuoa
(4 x+))(xF3)

3 huolen +pipopce.
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Factor —4x* - 8x + 5. JO
LUy F8x-5) A

-lﬁm’-axwov@):) i
| I’Qu(a)t‘ I> +s (a\(-I\3

- (ax—\\ (2 ;«5>

Example 4
| Factor the polynomial.
| 1.8x%-56x+48 2,142 +31x + 15 3.28-7x+5
4.32-14x +8 5.42-19 -5 6.6x7 +x - 12
7.-2%2-5y-3 8. -5m% +6m -1 9. -3 -x+2

Monitoring Progress 1-9

The length of a rectangular game reserve is
1 mile longer than twice the width. The area
of the reserve is 55 square miles. What is the
width of the reserve?

Example 5

xStudent pract 7
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10, WHAT IF? The area of the reserve is 136 square miles. How wide
is the reserve?

Monitoring Progress 10

« Exit Ticket: Factor 2x* - 7x + 3.

Closure






